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積分法 3 部分積分法 

ポイント 

 部分積分といえば，次数下げと周期性 

380 

(1) 

解法 1：部分積分だけで解く 
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解法 2：置換積分＋部分積分で解く 

 tx =- 22 とおくと，
2
dtxdx =  
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(2) 

解法 1：部分積分だけで解く 

 

( ) ( ) ( )
( ) ( ) ( ) ( ){ }
( ) ( ) ( )
( ) ( )
( ) ( ) Ceee

dxeee

dx
e
eeee

dxeeee

dxeedxee

xxx

xxx

x

x
xxx

xxxx

xxxx

+-++=

-++=

+
+-++=

¢
++-++=

+
¢

+=+

ò
ò

ò
òò

1log1

1log1
1

11log1

1log11log1

1log11log

 

解法 2：置換積分＋部分積分で解く 

 te x =+1 とおくと， dtdxe x =  
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(1) 
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(2) 
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(3) 

解法 1：部分積分だけで解く 
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解法 2：置換積分＋部分積分で解く 

 tx =log とおくと， tex = ， dtedx t=  
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